



























Mathematics of Harris Detector

$$E(u,v) = \sum_{x,y} w(x,y) [u(I(x+u,y) - I(x,y)) + v(I(x,y+v) - I(x,y))]^{2}$$

$$E(u,v) = \sum_{x,y} w(x,y) [uI_{x} + vI_{y}]^{2}$$

$$E(u,v) = \sum_{x,y} w(x,y) \left[(u - v) \begin{pmatrix} I_{x} \\ I_{y} \end{pmatrix} \right]^{2}$$

$$E(u,v) = \sum_{x,y} w(x,y) (u - v) \begin{pmatrix} I_{x} \\ I_{y} \end{pmatrix} (I_{x} - I_{y}) \begin{pmatrix} u \\ v \end{pmatrix}$$

$$E(u,v) = (u - v) \left[\sum_{x,y} w(x,y) \begin{pmatrix} I_{x} \\ I_{y} \end{pmatrix} (I_{x} - I_{y}) \right] \begin{pmatrix} u \\ v \end{pmatrix}$$















































